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	Module 7: Lesson 2 ASSIGNMENT

This Module 7: Lesson 2 Assignment is worth 24 marks. The value of each assignment and each question is stated in the left margin.


	(24 marks)
	Lesson 2 Assignment: Simple Harmonic Motion of a Pendulum


	(1 mark)
	TR 1.
	Calculate the restoring force that acts on a 1.0-kg hanging mass when it is displaced 2.0° from equilibrium.



Answer:

	


	(1 mark)
	TR 2.
	Calculate the restoring force that acts on a 1.0-kg hanging mass when it is displaced 10° from equilibrium.



Answer:

	


	(1 mark)
	TR 3.
	Based on your answers from TR 1 and TR 2, what is the relationship between the magnitude of the restoring force and the angle of displacement from equilibrium?



Answer:

	


	(2 marks)
	LAB 6.
	Find the average time for the completion of one cycle for each of the previous steps of the procedure. (You do this by dividing the time for ten cycles by ten.) Place your results in the appropriate cells in the Period Measurements table.



Answer:

	


	(1 mark)
	LAB 7.
	Has the period changed as a result of changing the angle of release? Explain.



Answer:

	


	(1 mark)
	LAB 8.
	Has the period changed as a result of changing the mass? Explain.



Answer:

	


	(2 marks)
	LAB 9.
	Has the period changed as a result of changing the length of the pendulum? Explain.



Answer:

	


	(2 marks)
	LAB 10.
	Has the period changed as a result of changing the acceleration due to gravity? Explain.



Answer:

	


	(4 marks)
	LAB 11.
	Summarize your findings from LAB 7 to 10 by listing the parameters that do affect the period of the pendulum and the ones that do not have an effect.



Answer:

	


	(2 marks)
	TR 4.
	Calculate the period of a 1.50-m pendulum. Verify your answer using the simulation.



Answer:

	


	(3 marks)
	TR 5.
	On the hypothetical planet Xeon, a pendulum with a length of 95.0 cm swings with a frequency of 1.50 Hz. What is the acceleration due to gravity on Xeon?



Answer:

	


	(2 marks)
	TR 6.
	Describe one similarity and one difference between the velocity vector on the reference circle and the velocity vector on the pendulum.



Answer:

	


	(1 mark)
	TR 7.
	a. [image: image1.jpg]


How many rotations does the reference circle make for every complete wave (        ) drawn on the graph?



Answer:

	


	(1 mark)
	
	b. How many complete swing cycles does this represent on the pendulum?



Answer:

	


	Once you have completed all of the questions, submit your work to your teacher.



